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DAILY PRACTICE PROBLEMS

CLASS : XIIth SUBJECT : MATHS
DATE : DPP NO.: 9

Topic :- VECTOR ALGEBRA

1. Ifd and b are unit vectors and 6 is the angle between them then |¥| is

a) sin2 b)sin 6 c) 2sin @ d)sin 26

2. Ifd and b are two non-collinear vectors and xa +y b = 0
a) x = 0, but y is not necessarily zero b)y = 0, but x is not necessarily zero
c)x=0,y=0 d) None of the above

3. Two adjacent sides of a parallelogram ABCD are given by AB = 2i +10j +11kand

AD=—i +2j +2Kk. The side AD is rotated by an acute angle a in the plane of the parallelogram so
that AD becomes AD'. If AD' makes a right angle with the side AB, then the cosine of the angle a is

given by
8 17 1 5
OF b)5 93 e
4. If the scalar projection of the vector xi + j + k on the vector 2i — j +5Kk is
1
\/TT) then the value of x is
a) —3/2 b)6 c) —6 d)3
5. Ifa=—i+j +2k, b =2i —j— kand ¢ =—2i+ j +3K, then the angle between
2a—c¢anda+bis
T T T 3m
a); b)g c)3 d)7

6. Leta, B, ¢ three non-zero vectors such that no two of which are collinear and the vector @ + b is
collinear with ¢ and b + ¢ is collinear with a. Then,a + b + ¢ =
a)d b)b c)¢ d)0

7. Thevalueof [ab+¢3a+b + ¢]is
0

a)[ab¢] b) ) 2[ab ¢ d)a x (b x¢)

8. Ifthe points with position vectors 60i +3}, 40i —8} and ai —52]' are collinear, then a =

a) —40 b) 40 ¢) 20 d)30
9. Letd=2i+j+k b=i+2j— kand aunitvector ¢ be coplanar. If ¢ is perpendicular to @ and ¢
is equal to
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1 N N 1 N N A 1 7% N 1 7 A A
a) £ H(—j+K) D)+ 5(—i—j-K o +zi-2) d) £ Z(—j—K)

10. If the vectorsa = 2i +j +4Kk, b = 4i —2j +3kand ¢ =2i —3j— Ak are coplanar, then the value
of Ais equal to
a)2 b)1 )3 d) -1

11. The vectors
i = (al + a11)i + (am + aymy)j + (an + a;ny)k,
U= (bl + byly)i + (bm + bymy)j + (bn + biny)k,
w=(cl+ cil)i+ (em+ cymy)j + (en + ciny)k
a) Form an equilateral triangle
b) Are coplanar
c) Are collinear
d) Are mutually perpendicular

12. If A, B, C, D are any four points in space, then |A§ X CD + BC x AD + CA x §D| is equal to
a) 2A b)4A c) 3A d)5A

13. Ifd lies in the plane of vectors b and ¢, then which of the following is correct?
a) [abe] =0 b)[abé] = 1 c) [dbe] =3 d)[ped] =1

14. Whatisthevalueof(a+5]-[5 X{Bx
a)(d-3d)-[bed] b)@E-d)-[bed

(exd)}]?
]

J(b-d)-[ded] d)(b-d)-[dd¢]

15. A parallelogram is constructed on the vectors d = 3d@ — 8, b = @ +3p.If || = || = 2 and the
s

angle between @ and ﬁ is 3, then the angle of a diagonal of the parallelogram are

a) 4\5, 4\5 b) 4\5, 4\ﬁ c) 4\ﬁ, 4\5 d) None of these
16. If the vectors i —2j +3k, —2i +3j —4k, A i — j +2k are linearly dependent, then the value of A
is equal to

a)0 b)1 c)2 d)3

17. For any vector 4, the value of (3 x i)? +(@ % j)% +(a x k)% is equal to
a)4a’ b)2a 2 c)a? d)3a?

18. Ifa =1+ +k b =2i —4k, ¢ = i +2j +3k are coplanar, then the value of 1 is
g b)z ) g d) None of these

19. Ifthe position vectors of P and Q are i +3}' —7k and 51 —2} +4k then the cosine of the angle
between 1_5Q and y-axis is
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5 4 5 11

a) Jiez b) 76z <) — Jiez d) 76z

20. The value of *a’ so that volume of parallelopiped formed byi +ai +K i +akandai + k
becomes minimum, is

a) -3 b)3 ) 1/4/3 d)+/3
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